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10.

Nagaland’s Myki brand, the Transformative Livelihood Intervention (TLI) Project is initiated

by :

(A). Department of Women Resource Development, Nagaland

(B) Department of Horticulture, Nagaland

(C) Nagaland State Social Welfare Board

(D) NEPED Nagaland

Nagaland Bamboo Development Agency (NBDA) was established in :
(A) 2004 (B) 2005

(C) 2006 (D) None of the above

Chathe River is located in :
(A) . Kohima District (B) Peren District
(C) Dimapur District (D) Zunheboto

Kaziranga National Park is famous for :

(A) Tigers (B) Rhinoceros (C) Elephants (D) Birds
Kohima became the headquarter of the Naga Hills on :

(A) September 14, 1878 (B) December 14, 1878

(C) November 14, 1878 (D) None of the above

The human eye forms the image of an object at its :

(A) Cornea (B) Iris (C) Pupil (D) Retina
If 25% of 300+a% of 250=5% of 2100, then a=

(A) 6 (B) 8 G 12 (D) -4
Who is the current CEO of Microsoft ?

(A) Sunder Pichai (B) Arundhathi Roy

(C) Steve Ballmer (D) Satya Nadella

Ethane, with the molecular formula C,Hg has :
(A) 6 covalent bonds (B) 9 covalent bonds
(C) 12 covalent bonds (D) 7 covalent bonds

Who was honoured with the Laureus Sportsman of the year award for 2018 ?

(A) Roger Federer (B) Rafael Nadal
(C) Novak Djokovic (D) Alexander Zverev
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11.

12.

13.

14.

15.

16.

17.

18.

19.

What is the average lifespan of RBC ?
(A) 80 days (B) 150 days (C) 120 days (D) 200 days

Which layer of the atmosphere is also called ozonosphere ?
(A) Troposphere (B) Stratosphere (C) Ionosphere (D) Mesosphere

A person travels from P to Q with a speed of 20 km/hour and from Q to P with the speed of
30 km/hour, then the average speed of that person is (in km/hours) :

(A) 24 ~(B) 10 (C) 25 (D) 50

‘T" in DTP (vaccination) stands for :
(A) Tetanus (B) Typhoid (C) Thyroid (D) Tuberculosis

In which year Permanent Revenue Settlement was introduced ?
(A) 1793 - (B) 1794 iC) 1795 (D) 1796

‘Match the following : & g

(a) Coffee (i) Kerala

(b) Tea () Jammu and Kashmir i
(c) Saffron (i) Assam ' ‘?
(d) Rubber (iv) Karnataka b
Code : .: Lt

L.

@ (k) (o) (d)
(A) @ @ @) @
(B) Gv) @ @) (@)
© (@) @) @ @)
(D) (v) (D) @) ()

The “UDAY Yojana” of the Government of India is associated with :
(A) Agriculture (B) Medicine
(C) Industries (D) . Energy Sector

The aim of which Five Year Plan was to correct the disequilibrium in the economy ?
(A) Second Five Year Plan (B) First Five Year Plan '
(C) Third Five Year Plan (D) Fourth Five Year Plan

Rana Pratap of Mewar was defeated by Akbar in the year :
(A) 1573 (B) 1574 (C) 1575 (D) 1576
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20.

21.

22,

23.

24,

25.

26.

27.

28.

29,

30.

31.

Who has been honoured with the Dada Saheb Palke Award this year ?
(A) Jaya Prada (B) Kamal Hasan (C) Vinod Khanna (D) Salman Khan

The ninth Schedule to the Indian Constitution was added by :
(A) 21t Amendment ' (B) Sixth Amendment
(C) First Amendment (D) Ninth Amendment

The highest peak in Nagaland is Mt. Saramati with a height of :
(A) 3015 mtrs (B) 3840 mtrs (C) 3826 mitrs (D) 3045 mtrs

Where was FIFA 2018 held ?

(A) France (B) Italy (C) Germany (D) Russsia
5:130:: : 350
(A) 2 : (B) 7 © 6 (D) 3

Who was choosen as President of Khilafat Conference in 1919 ?
(A) Mohd. Ali Jinnah (B) Sir Syed Ahmed Khan
(C) Motilal Nehru (D) Mahatma Gandhi

The Author of Son of the Thunder Cloud is :
(A) Sebastian Zumvu (B) Easterine Kire
(C) Abraham Lotha (D) Monalisa Changkija

Which among the following countries is not a member of “BRICS” ?
(A) India (B) South Africa  (C) Russia (D) Canada

The Naga Club was established in :
(A) 1929 (B) 1918 (C) 1939 (D) 1878

The binary equivalent of (35), is : o
(A) (100011), (B) (110011), (©) (110111), (D) (101011),

Who among the following Chola rulers sent an embassy of merchants to China ?
(A) Rajendra Chola (B) Rajaditya (C) Vira Rajendra (D) Kulottunga

Find the odd one out from the following :
1, 8, 27, 64, 125, 200, 343
(A) 64 +(B) 200 (C) 343 (D) 125
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32.

33.

34.

350

36.

37.

38.

39.

40.

Which of the following is not an example of a ‘bjro;-mass energy source ?
(A) Wood (B) Coal (C) Geothermal (D) Gobar gas

-

The Literacy rate, as per 2011 Census, of Mokokchung District is 91.62 whereas the htg—;xacy
rate of Kohima District is :

(A) 87.69 (B) 85.26 (C) 84.79 (D) 85.23

“NDRF” stands for :

(A) Natural Disaster Rehabilitation Force
(B) Natural Dangers Rescue Force

(C) National Disaster Response Force
(D) National Disaster Rescue Forum

The difference between Revenue deficit and grants for creation of Capital assets is :
(A) Revenue deficit . (B) . -Primary deficit

(C) Effective revenue deficit 8 (D) Fiscal deficit

Which one of the following pair is wrongly matched ?

(A) Emergency provisions - Weimor Constitution
(B) Concurrent List - Austria

(C) Office of Governor - Govt. of India Act, 1935
(D) Federal System with Strong - Australia

Central tendency
As per 2011 Census, male literacy stands at Nagaland :
(A) 76.11 (B) 79.55 (C) 82.14 (D) 82.75

Who among the following won the Ramon Magsaysay award in 2018 ?
(A) Sonam Wangchuk (B) Anna Hazare
(©) Arvind Kejriwal (D) Menaka Gandhi

What type of software creates a smaller file that is faster to transfer over the Internet ?
(A) Compression (B) Fragmentation (C) Encapsulation (D) Unzipped

The Second Session of Indian National Congress was held in :
(A) Madras (B) Pune (C) Calcutta (D) Lucknow
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41.

42.

43'

44.

45.

46,

47.

48.

49.

50.

51.

Which of the following North Eastern states of India inhabit the Nishi tribe ?
(A) Meghalaya (B) Manipur
(C) Sikkim . (D) Arunachal Pradesh

Human development is the core of all developmental efforts was recognised in :
(A) Eighth Five Year Plan (B) Ninth Five Year Plan
(C) Seventh Five Year Plan (D) Sixth Five Year Plan

The Eastern most part of the State bordering Myanmar is :
(A) Mon District (B) Kiphire District
(C) Tuensang District (D) Noklak District

Who among the following introduced Mansabdari system ?

(A) Akbar (B) Jahangir (C) Shajahan (D) Aurangazeb

The area of the sector with radius 42 cms and the angle 30° is (in square cms) :

(A) 432 (B) 442 (C) 462 (D) 452

p
Food cans are coated with tin and not with Zinc because : ?_ j
(A) Zinc is less reactive than tin (B) Zinc is costlier than tin ‘
(C) Zinc is more reactive than tin (D) Tin is easily available
If the area of an equilateral triangle is 36,/3 square centimetres, then its side is :
(A) 343 cm (B) 23 cm .. Q) 43 em (D) 12 em
The mean deviation about the mean for the following data 4, 7, 8, 9, 10, 12, 13, 17 is :
(A) 6 (B) 9 © 10 (D) 3 53

Which mosque did police party entered at Tirurangadi in search of Khilafat rebels ?
(A) Manjeri (B) Pokottur (C) Valluvanad (D) Mambaram

Who has the authority to proclaim emergency in the State ?
(A) Governor (B) Prime Minister
(C) President (D) Parliament

Which of the following is not a virus ?
(A) AIDS (B) Zika (C) Ebola (D) Nipha
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52. The main constituent of biogas is :

(A) Carbon-dioxide and Nitrogen  (B) Hydrogen and Nitrogen

(C) Oxygen and Hydrogen Sulphide (D) Methane and Carbon-dioxide

53. The decimal equivalent of (1101010), is :
(A) (104)y, (B} (103)y9 () (105)49 (D) (106)4

Qammi e~ .o s e kdi Call Rl iy 1

54. If1, —2, a are roots of x>—2x2—5x +6=0, then the value of & =
(A) 3 B) -3 ©) 4 (D) -4

55. Which is the smallest state in India (by area) ?
(A) Sikkim (B) Tripura (C) Telangana (D) Goa

‘ 56. Which Indian state is surrounded by Bangladesh on three sides ?
~ (A) Assam ~ (B) Tripura
| (C) West Bengal - (D) Arunachal Pradesh

e N R T Sl TR g S R g ST R L R W TR

|
b

57. A Naga Odyssey was primarily authored by :
: (A) Kaka Iralu (B) Khekiye K. Sema ' i
| (C) Visier Meyasetsu Sanyii (D) Charles Chasie

58. A and B working together can finish a piece of work in 4 days while A alone can do it in
6 days. Then the number of days that B can take to complete the work is :

(A) 12 (B) 8 (©) 10 (D) 6

| 59. * India’s economic planning cannot be said to be :
l (A) Imperative (B) Indicative (C) Limited (D) Democratic

‘ 60. All cases relating: to Interpretation of the Constitution can be brought to the Supreme Court

. under :
\: (A) Original Jurisdiction (B) Constitutional Jurisdiction
(C) Advisory Jurisdiction (D) Appellate Jurisdiction

| 61. Which kind of power accounts for the largest share of power generation in India ?
| (A) Hydroelectric (B) Solar (C) Nuclear (D) Thermal
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62.

63.

64.

65.

66.

67,

68.

69.

Match List-I with the List-II and seleclt ﬂ'te correct answer from the code given below :

List-1 List-II
(a) Cow dung (i) Industrial waste
(b) Fly ash (i) Global warming i
(c) Chloroflurocarbons (i) Biodegradable
(d) CO, and Methane (iv) Ozone depletion
Code :

@ @) (o (9
(A) @ @ @) (i)
(B) (W) (i) @@ ()
© @v) @) @ ()
(D) (@) @) @Gv) (@)

Fiscal deficit means :

(A) Govt. expenditure minus Revenue receipts

(B) Public capital expenditure minus Surplus of revenue account
(C) Public expenditure minus Tax and non tax revenue receipts
(D) Public expenditure minus Debts from sources other than RBI

Which of the following Indian states has largest coast line ?

--(A) * Andhra Pradesh (B) Tamil Nadu

(©) Gujarat (D) West Bengal

In which place an Ashokan inscription written in Greek and Aramaic was found ? .
(A) Kabul (B) Kandahar (C) Peshawer (D) Jalalabad i

The area of the path which has a width of 2.5 m inside a square with a side of 25 m is
(in square meters) :

(A) 225 (B) 625 (C) 625 (D) 6.25

The Sufi musical recitations were called :
(A) Rabi (B) Sami (C) Hadi (D) Sama

The concept of Public Interest Litigation originafed in :
(A) India (B) Britain (C) America (D) Canada

India secured 3™ position in the 2018 Commonwealth Games by winning a total of :
(A)" 96 Medals (B) 66 Medals (C) 58 Medals (D) 60 Medals

SCSP-18 : 8 A




70. “Garo hills” are a part of which among the following states of India ?
(A) Mizoram (B) Nagaland (C) Manipur (D) Meghalaya

-

71. During the reign of which Viceroy of India elections were held for the first time in Indian

i States ?
f: (A) Lord Irwin (B) Lord Winlithgow
; (C) Lord Mountbatten (D) Lord Curzon

72. ‘Ancient Monuments Preservation Act’ was passed during term of :
(A) Lord Curzon (B) Lord Mountbatten
(C) Lord Rippon (D) Lord Macaulay

. 73. Which of the following is the basic character of Oligopoly ?
' (A) A few sellers, one buyer (B) A few sellers, a few buyers
(C) Many sellers, few buyers (D) A few sellers, many buyers

S S

! 74. The largest gland in human body is : :
| (A) Liver (B) . Brain (C) Pancreas (D) Thyroid gland

g

75.  Which article of the Constitution provides for free legal aid to the poor and weaker sections
of the society ? . :

(A) 49 A (B) 47 (C) 48 (D) 39 A

76. “Radcliffe line” 1s boundary line between :
| | (A) China and India (B) Bhutan and India
' (C) Bangladesh and India (D) India and Pakistan

77. Indian Independence League was established by :
(A) Gopalakrishna Gokhale (B) Subhash Chandra Bose
(C) Tilak (D) Ras Behari Bose

r 78. The sl;eed of sound is maximum in which among the following ?
(A) vaccum (B) liquids (C) solids (D) gases

! 79. Which of the following type of rocks contains fossils ?

[ (A) Sedimentary rocks (B) Volcanic rocks
! (©) Plutonic rocks (D) Metamorphic rocks
| A 9 SCSP-18
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80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

Under which article, one of the following categories enjoys reservation for Panchayd
membership in proportion to their population ?

(A) 243D (B) 243 C (C) =243 B (D) 243 A

The first American Baptist Missionary to Nagaland : .
(A) EW. Clark (B) Miles Bronson (C) C.D. King (D) W.E. Witter

Which one of the following function is not the concern of the local government ?
(A) Public health ) (B) Sanitation
(C) Maintenance of public order (D) Public Utility Services

The total surface area of cube whose side is 9 cms is (in square cms) :
(A) 810 (B) 729 (C) 486 (D) 90

The Land Revenue collected by the Rulers of Delhi Sultanate was to the tune of :
(A) Half of the produce (B) One third of the produce
(C) One fourth of the produce (D) One fifth of the produce il

Which of the following river feeds the “Idukki Dam” ?
(A) Godavari (B) Periyar (C) Kaveri (D) Tunga Bhadra

Lonar Lake of Maharashtra was created by a : :
(é‘\) Volcano (B) Meteorite (C) River (D) Earthquake

If the President wants to resign, he should'address his resignation letter to the :
(A) Chief Justice of India - (B) Vice President
(C) Speaker of Lok Sabha (D) Prime Minister

Chlorophyll in a leaf is required for :
(A) Emitting green light (B) Trapping light energy
(C) Storing starch in leaves (D) Attracting water

Who among the following wrote the text Amuktamalyada ?
(A) Allasani Peddana (B) Krishnadevaraya

. (C) Tirumalamba (D) Dhurjati
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90. Noklak District was created on :
(A) 21 December, 2017 (B . 220 Detembe}', 2017
(C) 22nd QOctober, 2017 (D) 22nd September, 2017

T TRy R T

91. The Andaman and Nicobar islands are separated by :
(A) Andaman Sea (B) Ten degree channel
(C) Five degree channel (D) Pak strait

92. Which of the following lenses prefer to use while reading small letters ?
(A) A convex lens of focal length 5 cm
(B) A convex lens of focal length 50 cm
(C) A concave lens of focal length 60 cm
(D) A concave lens of focal'length 5 cm

93. The power of Supreme Court of India to decide disputes between the Centre and the State

falls under its :
(A) Original Jurisdiction (B) Constitutional Jurisdiction
| (C) Appellate Jurisdiction - (D) Advisory Jurisdiction

b o

94. An accurate clock shows 8 o’clock in the morning. Through how may degrees will the hour
hand rotate when' the clock shows 2 o’clock in the afternoon ?

. (A) 154° (B) 180° (C) 170° (D) 160°

| ‘
ir 95. Which among the following is the largest fresh water lake in India ?
| (A) Wular Lake (B) Chilka Lake ©) Puliat Lake (D) Dal Lake:.

96. Economic Survey is published by :
(A) NITT Ayog (B) Ministry of Finance
(C) Reserve Bank of India (D) Indian Statistical Institute

97. Who is the President of Russia ?
(A) Pavel Grudinin (B) Yeltsin
(C) Vladimir Putin (D) XiJinping

98, India’s rank in ‘World Happiness Index’ 2018, is :
(A) 58 (B) 33 (C) 133 (D) 98

99. Harry Kane is related to which of the following sports ?
(A) Cricket (B) Wrestling (C) Football (D) Golf

A 11 SCSP-18
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100. If x= 24./5, then X +;2_= .

(A) 81 (B) 16 OB B (D) 18

101. Who was the first Portugese Governor in India ?
(A) Hawkins (B) Thomas
(C) Albuquerque (D) Franci De Almaida

102. Match the following :

(@) Green Revolution (i)  Milk/Dairy Production
(b)  Yellow Revolution (i) Fish Production

(c)  Blue Revolution (i)  Oil Seeds Production
(d) White Revolution (iv) Food Grains Production
Code :

@ ® () (d f
(A) @) @) ) (@) ‘
B) () @) () () |
© Gv) ) @) () i
D) @ (G(v) @) (i)

103. Who is known as Pioneer of Economic Nationalism ?
(A) R.C. Dutt (B) J.R.D. Tata
(©) Dr. BR. Ambedkar - (D) S.A. Dange

104. Which one among the following formulates fiscal policy in India ?
(A) Reserve Bank of India (B) NITI Aayog
(©) Finance Commission (D) Ministry of Finance

105. Ravi buys an article and sells it for ¥ 682 with 10% profit. Then its cost price is :
(A) T 692 (B) ¥ 620 (€)% 610 (D) T 670

e b T, P Sl

106. Complete the following series :
240, 120, 40, 10, . . . . ..

(A) 5 ® 2 (C) 10 (D) 1

107. What is the theme of the 2018 World Consumer Rights Day (WCRD) ?

(A) Encourage organic farming (B) Making digital market places fairer
(C)  Protect rights of consumer (D)  Antibiotics off the menu
SCSP-18 12
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108.

109.

110.

111.

112.

The Nagaland Peace Mission was set up on :
(A) September 6, 1964 ) (B) February 4, 1964
(C) November 4, 1964 (D) December 4, 1964 «

Which Moghul Ruler built Moti Masjid at Agra ?
(A) Jahangir (B) Shah Jahan (C) Bahadursha (D) Farooq Siyar

The term ‘Dastak’ implies :

(A) Market (B) Riot (C) Tariff (D) Duty free trade
Match List-I with the List-1I and select the correct answer from the code given below :
List-1 List-II
(a) Haematite (i) Copper
(b) Bauxite (ii) Lead
_(¢) Chalcopyrite  (iii) Iron
(d) Galena (iv) Aluminium
Code : ;

@ ® © @ |
A @ @ 6 |
B () @ @ @ |
© ) @ 6 6
O) @) 6 @) 6

Match List - T with the List - I and select the correct answer from the code given below.

) List - I ' List - IT
(a) Jitu Rai (i) Boxing

(b) Sushil Kumar (ii) Badminton
(c) Mary Kom (iif) Wrestling
(d) Saina Nehwal (iv) Shooting
Code :

@ () (9 (@
(A) @) @) @O (@)
(B) @) @& @) @)
© @) @) @ @
D ) @ @) G

13 ‘ - SCSP-18
{P.T.0.}




113. The next pair of letters in the series is :
AF, DI, GL, ...... ,
(A) QL (B) KP © JO (D) MR

114. Dr. U.R. Rao, who recéntly passed away, was well known personality of which field '?
(A) Science (B) Politics (C) Economics (D) Social Work

115. The Naga Frame-work Agreement was signed on 3rd August, 2015 between GOI and ;
(A) NSCN(K) (B) NSCN(IM) (C) NNC(NA) (D) NSCN(U)

116. The chief function of Lymph nodes is to :
(A) Produce hormones (B) Destroy old RBCs
(C) Destroy pathogens (D) Produce WBCs

117. The British poiitical officer killed in the Khonoma War in 1879 was :
(A) Pemberton (B) Damant (C) Hutton (D) Jenkins

118. Amarnath temple is in :
(A) Himachal Pradesh ~ (B) Uttarakhand
(C) West Bengal (D) Jammu and Kashmir

B & P

|
|

e i i

{
A

|
|

119. Who among the following introduced land survey and settlement system for tax purpoi
(A) Iltutmish (B) Razia Sultan (C) Balban (D) Alauddin Ki

-120.. Who was called as Lokahitavadi ?
(A) G.H. Deshmukh (B) Bal Gangadhar Tilak
(C) Dayananda Saraswathi (D) Vinoba Bhave

121. Which one of the following Article deals with promotion of International Peacé

Security ? ‘
(A) 51 - (B) 49 (C) 50 (D) 48 A
4B | 53 _

122 55 " BB
(A) 5 (B) 3 (C) 8 (D) 10

123. Nagaland University was established in the year :
(A) 1984 (B) 1989 (C) 1996 (D) 1994

SCSP-18 14




124. Strachey Commission is associated with :

(A) Famine (B) Education (C) Police reforms (D) Health
125. The Union Minister of Defence is :

(A) Smt. Smriti Zubin Irani (B) Smt. Maneka Sanjay Gandhi

(C) Smt. Susma Swaraj (D) Smt. Nirmala Sitharaman

126. Arrange by correct sequence :

(a) Gandhi Irwin Pact (b) Ibert Bill
(c) Rowlatt Act (d) Pitts India Act
(A) (b), (d), (), (a) (B)  (d), (b), (), (a)

© () (), (a) (d) (D) (d), (c), (@), (b)

| 127. The legendary love story of Jina and Etiben is associated with :

(A) Siingratsii village (B) Mopungchuket village
.(C) Ungma village (D) Changki village
128. Who wrote the book “Violence of Green Revolution” ? . i
(A) Menaka Gandhi (B) Rajender Singh :
(C) Vandana Siva (D) Arundhathi Roy

129. Nagaland Pollution Control Board (NPCB) main office is located in :
(A) Kohima - (B) Mokokchung (C) Dimapur (D) Peren

130. In which year Shivaji demanded Chauth from Surat ?
(A) 1669 (B) 1670 C) 1671 (D) 1672

131. controls the way in which the computer system functions and provides a means
by which users can interact with the computer.

(A) The operating system (B) The motherboard
(C) The platform (D) Application software

132. The area of the ring (in sq. cms) whose inner radius is 3.5 cms and outer radius is 10.5 cms
is :

(A) 288 (B) 298 (C) 308 (D) 318

133. Sultans of Delhi imported male and female slaves from which of the following countries ?
| (A) Africa (B) Arabia (C) Persia (D) Sri Lanka

A 15 SCSP-18
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136.

137.

140.

141.

134.

135.

138.

139.

‘Ring fence’ is associated with :
(A) Lord Hastings (B) Warren Hastings
(C) Dalhousie (D) Hunter L

The Dobashis are appointed by :
(A) Apex Tribal bodies | (B) Village Council Members
(C) State Government (D) None of the above

Who was the founder of the Asiatic Society of Bengal ?
(A) Annie Besant (B) William Bentick
(C) Ram Mohan Roy (D) Sir William Jones

If A, B are any two sets, and A—B={a, b, e, d}, ANB={h, g, 1}, then the number of elements
inAis:

(A) 3 (B) 4 © 7 (D) 1

Who introduced Widow Remarriage Act ?

(A) Lord Dalhousie (B) Lord Lytton

(C©) Lord Cunning ' (D) Lord Curzon

Match the following :

{a) Bhakra Nangal (i) Mahanadi
(b) Hirakud (i) Bhagirathi
(c) © Nagarjunasagar (iii) Sutlej

{d) Tehri (iv) Krishna

Code :

@ (b) () (I
@A) @ @ @ @)
(B) . () () (@v) ()
© @ @ @ W)
Oy @ @ @v) @)

In a triangle ABC if ZA=3£C, ZB=2/C, then ZA= .
(A) 45° (B) 60° . €y 150 (D) 90°

During whose reign the Persian envoy Abdur Razaa came to Vijayanager :
(A) Bukka (B) Devaraya I (C) Devaraya II (D) Virupaksha
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142,
. 143,
144.

145.
. 146.:

147.

- 148.
- 149.

150.

A Bronze statue of ‘a dancing girl’ was found at :
(A) Binjor . (B) Dholavira (C) Mohenjodaro (D) Harappa

Booker Prize is given to the field of :
(A) Poetry (B) Fiction : (C) Drama (D) Direction

The terms ‘Wanna Cry’, ‘Petya’ and ‘EternalBlue’ are related to :

(A) Aircrafts (B) Missiles (C) Cyber Attacks (D) Sub-marines

What is the percentage of the Rupee goes towards interest payment according to 2018-19
Union budget ? g

(A) 12 percent (B) 18 percent (C) 14 percent (D) 16 percent
The first evidence of Sati practice in Gupta period in A.D. 510 is found at :
(A) Mandsor (B) Bhitargaon

(C) Eran : (D) Nachana Kottwra

Match the following :

(a) Panna i) Gold

(b) Singhbhum (i) + Uranium
(c) Jaduguda (iii) Copper
(d) Hutt (iv) Diamonds
Code :

@ () (o) (d)
(A) (v) @) @) @)
(B) @) @) (v) ()
© G @Gv) @) ()
D) (v) i) () (@)

Which one of the following medicines is used for treating indigestion ?
(A) Antibiotic (B) Antacid (C) Analgesic (D) Antiseptic

The correct spelling of a certain tribe in Nagaland is :
(A) Khuinmuingan (B) Khaimnuingam (C) Khiamniungan (D) Khianmuingam

Who among the following is involved in the ¥ 13578 crore Punjab National Bank fraud ?
(A) Anil Ambani (B) Lalu Prasad Yadav
(C) Vijay Malya (D) Nirav Modi
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151. Who among the following wrote the text ‘Kadambari’ ?
(A) Harsha (B) Sasanka (C) Bhasa (D) Bana

152. A two-tier system is prescribed by the 73" Amendment Act, 1992 for states with population
less than : ’

(A) 20 lakhs (B) 15 lakhs (C) 10 lakhs (D) 5 lakhs

153. According to Rigveda which Aryan chief defeated ‘Dasyus’ :
(A) Naradasya (B) Trasadasyu {C) Suadasyu (D) Paradasyu

il 154. Match the following :
L

| (a) Anaimudi (1) Rajasthan

| (b) Gurushikhar (i) Meghalaya

| (c) Nallamalai hills (i) Kerala
(d) Khasi hills (iv) Andhra Pradesh
Code : :

| ' @ O © (@
A @ @ 6
| ®) G 6 G @
- © @ ® @ @@
D @) 6 @) 6@

155. Capacity of human body to resist diseases is known as : ;
(A) Resistance (B) Heredity (C) Power (D) Immunity

L ]

156. What is the lowest common multiple of 12, 36 and 20 ?
(A) 160 (B) 220 (C) 120 (D) 180

| 157. The main festival of the Chang tribe is :

(A) Tsokim (B) Monyu (C) Naknyulem (D) Mediimneo
1 ' 158. Which film was honoured with the Palme d’or award at the 715t Cannes Film Festival ?
i (A) “Cold War” (B) “Shoplifters” '
(C) “Capernaum” (D) “Ayka”

159. Which of the following texts contained rules of the Buddhist Sangha ?
(A) Dipavamsha (B) Abbidarmma Pitaka
(C) Vinaya Pitaka (D) Sutta Pitaka
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160. Operation Green is a program announced in 2018-19 budget by Union Government to

promote :
(A) Environment friendly products  (B) Agriculture products E:
(C) Paper based products (D) Bamboo based products

161. Match List - I with the List - Il and select the correct answer from the code given below.

List - I List - II
(@) World Health day (i) 25" January
(b) International Earth day (i) 218 June
(c) National Voter's day (i) 7th April
(d) International Yoga day (iv) 227 April
Code :

@ () () (@
(A) @) @) 6 @
(B) @) @) @) ()
© @) @ @) @
D) @) @) @ (i)

162. Which of the following pairs is mismatched ? _
(A) Idukki - Tamil Nadu (B) Keleshwaram - Telangana 2
(C) Sardar Sarovar - Gujarat (D) Srisailam - Andhra Pradesh

163. All are Vitamin deficiency diseases except :
(A) " Rickets (B) Fluorosis (C) Scurvy (D) Night blindness

»

164. The Angh’s house lies half in India and half in Myanmar in :

(A) Angphang village (B) Longwa village
(C©) Lampong village (D) Pongkong village
x+1
| 165. If f(x) = =1 then f{f((3))) =
W ® 1 © 2 ®) 3

166. Golden Quadrilateral connects :
(A) Delhi - Mumbai - Kolkata - Chennai
(B) Mumbai - Bangalore - Chennai - Delhi
(C) Delhi - Kolkata - Hyderabad - Mumbai
(D) Mumbai - Chennai - Vizag - Delhi
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167. Which of the following missiles of India is a “Supersonic Cruise Missile” ?

(A) Agnill (B) Nag _ (C) Trishul (D) Brahmos
168. Who among the following has won the Women's Singles French Open Tennis tournament
2018 ?
(A) Simona Halep (B) Serena Williams
(C) Kyvitova (D) Elina Svitolina

169. The Third Anglo-Mysore War came to an end with treaty of :
(A) Arcot (B) Mysore
| (C) Srirangapatnam (D) Mangalore

170. The current Chairperson of Nagaland State Commission for Women is :
(A) Sano Vamuzo (B) Ellen Konyak (C) Temsula Ao (D) Daisy Mezhur

" 171. What is the value of x>+ ?
() =x+y=10
(I 2Zx-7y=2
Now choose the correct option from the following :
(A) Only (I) is sufficient to answer the question.
(B) Only (II) ic sufficient to answer the question.
(C) Both (I) and (II) are required to answer the question.
(D) Along with (I) and (IT), some extra data is required to answer the question.
172. The Mazhabi Sikhs were originally :
(A) Menials (B) Landed magnates
(C) Artisons (D) Peasants

173. Kanchi Ghatika was a :
(A) College (B) Cultural Centre ..
(C) Place of Worship (D) Matha

174. Antibody is produced by :
(A) B-lymphocytes (B) Erythrocytes (C) . Skin cells (D) Osteoblast

175. The main festival of Pochury tribe is : _
(A) Monyu (B) Yemshe (C) Bushu (D) Chithuni
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176. In a certain code LAND is coded as VKXN and RENT is coded as BOXD. Then the code of
TRADE is :

(A) DBNOK (B) DBNKO (C) DBKON (D) - DBKNO

177. The lady representative from India in the second round table conference was :
(A) Lakshmi Gosh (B) Annie Besant
(C) Sarojini Naidu (D) Vijayalakshmi Pandit

178. Name the Arab Writer who mentioned the practice of Sati during Rajput rule.
(A) Mansur ~ (B) Murshid (©) Sulaiman (D) Arshad

179. The soil of the Northern plains of India has been formed by :
(A) Degradation (B) Aggradation (C) In situ (D) Organisms

: 4
180. Let a, b be any two real numbers and a*b=%— , then (7*3)*9 =

(A) 21 (B) 63 © 27 (D) 33
181. In Banking Sector, “RTGS” stands for :

(A) Rare Time Generating Scheme  (B) Real Time Gross Settlement )
“' (C) Real Trade Generating Scheme (D) Real Time Generating Settlement C >~

- 182. The basic unit of a Workshs':et into which you enter data in Excel is called a :
(A) column (B) box (C) table (D) cell

| 183. Which among the following is the basic filtering units of kidneys ?
i (A) Nephrons (B) Newtrons (C) Prostate (D) Testes

184. The Ao traditional Khumpang is a :
(A) Headgear (B) Armlet
(C) Necklace (D) None of the above

185. A.Z. Phizo literally signed the Shillong Accord, 1975 -
(A) False (B) True
(C) Along with 3 others (D) Along with 5 others
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186.

- 187.

. 188.

189.

190.

191.

"192.

193.

194.

Which one of the following statements is incorrect ?

(A) Nominated members of Rajya Sabha have voting rights in the presidential elections.
(B) Nominated members of Parliament have voting rights in the election of the Vice President.
(C) Lok Sabha has a role in the removal of the Vice President.

(D) The Constitution doesn’t fix any amendments for the Vice President.

Who among the following is known as “The man with the golden arm” 7
(A) James Harrison (B) Rajender Singh
(C) Prince Harry (D) Ajit Premji

The Gujarati translation of the “Unto this Last’ is called : )
(A) Swadesh (B) Harijan (C) Sarvodaya (D) Navajeevan

Nagaland became a Dry state during :

(A) The Nagaland Liquor Total Prohibition Act 1979
(B) The Nagaland Liquor Total Prohibition Act 1989
(C) The Nagaland Liquor Total Prohibition Act 1999
(D) The Nagaland Liquor Total Prohibition Act 1978

Who is the new Prime Minister of Pakistan ?
(A) Nawaz Sharif (B) Sheikh Rasheed Ahmad
(C) Imran Khan (D) Mamnoon Hussain

The normal gestation period in humans is :
(A) 300 days (B) 270 days (C) 280 days (D) 310 days

Which of the following is used for the measurement of distribution income ?
(A) Gini Lorenz Curve (B) Philip Curve
(C) Engel's Law ' (D) Laffer Curve

The Morung equivalent in Lotha is called :
(A) Kichiiki (B) Chumpho
(C) Tsonyan Phen Ki (D) Sochum

Which among the fbllowing metals is better conductor ?
(A) Silver (B) Iron (C) Copper (D) Mercury
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195. The theory of evolution of species by natural selection was given by :
(A) Jagadish Chandra Bose (B) Mendel
(C) Darwin (D) Morgan

196. “Majuli”, the largest river island in the world is located in which among the following states

of India ?
{ (A) Assam (B) Arunachal Pradesh
' (C) West Bengal (D) Meghalaya
l 1 A B ‘
= + 3 3 -
197, If 62— 7242  31—2  2x—1° then A°+B°=

(A) 35 (B) 9 (C) 68 (D) 19

198. Radical Democratic Party was organised by :

(A) Tilak (B) M.N. Roy

(C) Jayaprakash Narayan (D) R.M. Lohia T o
199. Ntangki National Park is located in : _ e

(A) Dimapur District (B) Longleng District “F

(C) Peren District (D) Phek District >~

200. The provisions related to citizenship came into effect from :

(A) 26 January, 1950 - (B) 26 November, 1949
(C) 25 October, 1948 . (D) 15 August, 1947
-00o0-
r
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